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Fo Switching frequency
R; Sense resistor in current mode

SyorS,  Inductor on slope, e.g., f for a boost converter

VOM)‘ V
S,or S, Inductor off slope, e.g., ———=

m, Compensation ramp according to Ridley notation [2]: m,

2A.1 Buck

Voltage-mode, CCM:

Reference 1 equations:

I

CHAPTER TWO

= for a boost converter
S,orS,  External ramp compensation slope

=(A|NC/J

no RHPZ for the CCM buck

ifry=rg=0

ifry=rg=0

i 735 = pep ™ 0
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@a = resC
W, = o)

_ R
K= T+ R
Wy =
= Z

ry+ R

. L . .
with Z, = \/:, the LC network characteristic equation.

Voltage-mode, DCM

Reference 1 equations:
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Current-mode,

Reference 1 eg
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for S, = 50%
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